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KEY AND MARKING SCALE

se a f any appropriate answer not mentioned in thi

1. COMPREHENSION (15 POINTS)

est

A. THE RIGHT ANSWER: (2 pts)
TRUE / FALSE + JUSTIFICATION:

F — an Indian foundation proposed the idea./

hould not nalised for spelling and grammar mistakes in the comprehension secti n,

The right answer is: (¢) using a train to provide medical care in India.
(3 pts) (1pt cach: 0.5 pt for the correct choice and 0.5 pt for a
justification. Consider the justification ONLY if the choice is

correct. Quotes from the text are acceptable)
from the foundation/.

F - he was more worried about her marriage.

T - it has inspired similar experiences in many other countries.
SWERING QUESTIONS: (3 pts; 1 pt cach)

B.

. « . sight, hearing and movement problems.

- - - a blood bank and sophisticated equipment to do major surgerics/ improve medical services...
ENTENCE COMPLETION: (3 pts; 1 pt each)

C.

. . (local) doctors.
- - companies, individuals and doctors across the country.
3....could walk normally/ finished her studies / got married
D. WORD REFERENCE: (2 pts; 1 pt each) 1. India
E. WORDS MEANING: (2 pts; 1 pt cach) 1. urgent

II. LANGUAGE (15 POINTS)

A. GAP FILLING: (2 pts; 1 pteach) l.relyon 2. ranaway

A
AN

1. The Ministry of Railways/the Railways /the train company.
2.

3

S

- 5

B. JOINING SENTENCES (2 pts, 1 pt each)
1. Samira is a hard working student, whereas her brother Tariq is lazy / Whereas Samira is. . ~her brother is... ./

«ele

2. Sajida’s father
2. surgery

2. Neil couldn’t attend the wedding party because of his illness./ Because of his illness, Neil....../...etc

C. WORD FORMATION: (2 pts, 1 pt each) 1. advertisement /ad/advert 2. tolerant
D. TENSES: (2 pts;1 pteach) graduated - hasn’t(has not) found

E. REWRITING SENTENCES: (3pts;1 pt each)
1. The magazine was edited in two days only.

2. If the kids had got their parents’ permission, they would/could have gone. ..

3. ...toretumn the books. . Jthat I should retum the books . . .

F. FUNCTIONS: (4pts; 1 pteach) 1.d. (expressing an opinion) 2.b. ( making a request)
III. WRITING

3. a.(apologising)

(10 POINTS) (Task 1: 4 pts; Task 2: 6 pts)
The following criteria should be respected while scoring the writing tasks.

4. c. (expressing lack of understanding)

Scoring criteria Task 1 Task 2
Relevance of content to the task 2 pts 3 pts
Appropriatencss and variety of vocabulary 1 pt 2 pts
Grammar and mechanics 1 pt 1 pt




